
 have got, has got Verbformen - long forms

Fill in the gaps with a correct form of have got.

1. we (-) 0,885 you (+)
we have 

not got
;

you have 

got

2. you (-) 0,521 we (+)
you have 

not got
;

we have 

got

3. it (-) 0,485 I (+)
it has not 

got
; I have got

4. you (?) 0,996 we (-)
have you 

got
;

we have 

not got

5. she (-) 0,836 they (+)
she has 

not got
;

they have 

got

6. it (?) 0,183 I (-) has it got ;
I have not 

got

7. we (?) 0,580 you (-)
have we 

got
;

you have 

not got

8. they (?) 0,852 she (-)
have they 

got
;

she has 

not got

9. you (?) 0,277 he (-)
have you 

got
;

he has not 

got

10. I (?) 0,149 it (-) have I got ;
it has not 

got

11. it (+) 0,374 I (?) it has got ; have I got

12. she (+) 0,650 they (?)
she has 

got
;

have they 

got

13. she (?) 0,096 they (-)
has she 

got
;

they have 

not got

14. they (-) 0,798 she (+)
they have 

not got
;

she has 

got

15. I (-) 0,602 it (+)
I have not 

got
; it has got

16. he (?) 0,345 you (-) has he got ;
you have 

not got

17. he (+) 0,724 you (?) he has got ;
have you 

got

18. I (+) 0,432 it (?) I have got ; has it got

19. he (-) 0,081 you (+)
he has not 

got
;

you have 

got

20. they (+) 0,529 she (?)
they have 

got
;

has she 

got

21. you (-) 0,475 he (+)
you have 

not got
; he has got

22. you (+) 0,093 we (?)
you have 

got
;

have we 

got

23. we (+) 0,532 you (?)
we have 

got
;

have you 

got

24. you (+) 0,145 he (?)
you have 

got
; has he got

      Example:      they (+) = they  have  got      you (-) = you  have  not  got                           

we (?) = have  we  got?
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